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BRING TEXTBOOK 
VOLUME 2!  

(we will actually use it 
this time, I promise!) 

Start your Week 4 Warmup page. 

***Get a calculator*** 

1. Is there a correlation between the 

version of the commercial the people 

viewed and their likeliness to buy the 

product? (In other words, which 

commercial is the most persuasive?) 

𝟐𝟓

𝟔𝟓
≈ 𝟑𝟖% of the people who watched version 1 are likely to buy the product. 

𝟐𝟎

𝟑𝟎
≈ 𝟔𝟕% of the people who watched version 2 are likely to buy the product. 

𝟓𝟒

𝟖𝟓
≈ 𝟔𝟒% of the people who watched version 3 are likely to buy the product. 

Version 2 is likely the most persuasive commercial, followed closely by version 3. 

Warmup 4/(# of days in 2
4

7
 weeks) 

Created by Mr. Lischwe 

Schedule 

 TODAY: Go over homework; skills review on whiteboards 

WED: Kahoot review (bring your device!!!) 

 THURSDAY: Review in groups 

 FRIDAY: Kahoot review (bring your device!!!) 

 

MONDAY: TNReady Practice Quiz for a grade (+ some scatter 
plots/frequency tables problems) 

 TUESDAY: Last day of Review – PACKET MAKEUPS DUE 

WEDNESDAY: TNReady Math Begins 

 

Low packet grades… 

 If you got a low packet grade, PLEASE come to me 
and set up a time for tutoring. Any day lunch will 
work.  

 

 I will also have “Packet corrections” tutoring 
sessions after school TODAY and FRIDAY. 

 

 If you don’t come to me to set up a time, I will give 
you a pink slip to come in (at least) one of the days 
for lunch 

Going over the “Mixed Skills Review” 

You should be putting down the correct answers in a 
different color for each problem you missed. 

 

 This will be a great study tool. You will get it back 
from the paper returners tomorrow. 

 

 This will also really help you with your packet 
corrections!!! 

 

 The answer key will be on my website. 

Do p.681 (#3) 

Writing the equation of a line of best fit 

Understanding what the equation means 

Using your equation to make predictions 
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#3 

WHITEBOARDS 

Solve each equation: 

a. 𝟓𝒙 + 𝟕𝟓 = 𝟕𝟓 + 𝟓𝒙 

b. 𝟓𝒙 + 𝟕𝟓 = −𝟓𝒙 + 𝟕𝟓 

c. 𝟓𝒙 − 𝟕𝟓 = 𝟓𝒙 + 𝟕𝟓 

d. 𝟕𝟓 − 𝟓𝒙 = 𝟓𝒙 − 𝟕𝟓 

e. 𝟓 𝒙 − 𝟕𝟓 = −𝟓 −𝒙 + 𝟕𝟓  
 

Infinite Solutions 

x = 0 

No solution 

x = 15 

Infinite Solutions 

• Rapunzel’s hair was originally 90 feet long, but something strange has happened, 

and her hair is starting to shrink. Her hair is getting 3 feet shorter every day.  

Meanwhile, Lord Voldemort’s head was originally bald, but something equally 

strange has happened, and his hair is growing 1.5 feet per day. 

•  Define a variable and write an equation to find out when their hair would be the 

same length. 

• How long will it take for Rapunzel’s and Lord Voldemort’s hair to be the same 

length? How long will their hair be at this point? 

 

x = # of days 

90 – 3x = 1.5x 

20 days; both hair = 30 feet 


